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use #iE

xtset id year

xtreg dvar posttreat i.year i.cic_02 i.countyid,fe vce(cluster id)

xtreg dvar posttreat Inkl i.year i.cic_02 i.countyid,fe vce(cluster id)

xtreg dvar posttreat Inkl scale i.year i.cic_02 i.countyid,fe vce(cluster id)

xtreg dvar posttreat Inkl scale hhi i.year i.cic_02 i.countyid,fe vce(cluster id)

xtreg dvar posttreat Inkl scale hhi age i.year i.cic_02 i.countyid,fe vce(cluster id)

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid,fe vce(cluster id)
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set more off

gen distance = year - policy year

tab distance, missing

replace distance = -5 if distance <= -5

replace distance =4 if distance>=4

forvalues i=1/5{

gend 'i' =0

replaced 'i' =1 iftreat thisyear== 1 & distance==-'1'

}

forvalues i=1/4{

gend'i' =0

replace d'i' =1 if treat thisyear== 1 & distance=="
}

gen current =0

replace current = 1 if treat_thisyear== 1 & distance==0

xtreg dvar d 5d 4 d 2 d I current d1 d2 d3 d4 Inkl scale hhi age Inpro i.year
i.cic_02 i.countyid,fe vce(cluster id)

coefplot.keep(d 5d 4 d 2d 1 currentdl d2 d3 d4) levels(99) vertical Icolor(black)
mcolor(black) msymbol(circle hollow)ytitle( B )3 & #{ , size(small))  ylabel(,
labsize(small)  angle(horizontal) nogrid) yline(0, Iwidth(vthin)lpattern(solid)
Icolor(black)) xtitle( B % 5 7% AH % B [8] , size(small)) xlabel(,labsize(small))
graphregion(fcolor(white) Icolor(white) ifcolor(white) ilcolor(white))
ciopts(recast(rcap))xline(10.5, Iwidth(vthin) Ipattern(solid)lcolor(black))
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set seed 0001
gen tmp = runiform()
sort tmp

psmatch2 treat thisyear Inkl scale hhi age Inpro, out(dvar) logit ate neighbor(1)
common caliper(.05) ties

pstest Inkl scale hhi age Inpro, both graph

gen common=_support

drop if common ==

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid,fe vce(cluster id)
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gen period=year-policy year

gen period_adj 1=period _thisyear

replace period adj 1=1 if period==-2

replace period adj 1=1 if period==-1

gen fx1=period adj 1*treat thisyear

xtreg dvar fx1 Inkl scale hhi age Inpro i.year i.cic_02 i.countyid,fe vce(cluster id)

*% (2) F & RILET[E R F] 3

gen period=year-policy year

gen period_adj 2=period _thisyear

replace period adj 2=1 if period==-3

replace period adj 2=1 if period==-

replace period adj 2=1 if period==-1

gen fx=period adj 2*treat thisyear

xtreg dvar fx Inkl scale hhi age Inpro i.year i.cic_02 i.countyid,fe vce(cluster id)
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gen period=year-policy year

keep if period>=-5&period<=5

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic_02 i.countyid,fe vce(cluster id)
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gen period=year-policy year

keep if period>=-6&period<=6

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid,fe vce(cluster id)
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capture drop dvarwinsor2

winsor dvar, gen (dvarwinsor2) p(0.01)

xtreg dvarwinsor2 posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid,fe
vee(cluster id)
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_pctile dvar,p(1,99)

return list

drop if dvar<r(rl)|dvar>r(r2)

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid,fe vce(cluster id)
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drop if province id==11

drop if province id==12

drop if province id==31

drop if province id==50

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic_02 i.countyid,fe vce(cluster id)
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drop if year==2011



xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid,fe vce(cluster id)
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drop if treat thisyear==0

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic_02 i.countyid,fe vce(cluster id)
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xtreg dvar ratio num Inkl scale hhi age Inpro i.year i.cic 02 i.countyid,fe
vee(cluster id)
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xtreg dvar posttreat Inkl scale hhi age Inpro  tax_avg all i.year i.cic_02 i.countyid,fe
vee(cluster id)/* im . WTO*/

xtreg dvar posttreat Inkl scale hhi age Inpro dum cd i.year i.cic_02 i.countyid,fe
vee(cluster id)/* 3k 6% & AL*/

xtreg dvar posttreat Inkl scale hhi age Inpro treat i.year i.cic 02 i.countyid,fe
vee(cluster id)/* 4 & & & & */

xtreg dvar posttreat Inkl scale hhi age Inpro tax_avg all dum_cd treat i.year i.cic_02
i.countyid,fe vce(cluster id)/* [7] B 44 A\ */
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xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if
dum bg==1,fe vce(cluster id)/* & 7% £ */

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if
dum bq==0,fe vce(cluster id)/*4E H 7& £ */
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xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if
dum_csj==1,fe vce(cluster id)/*K = f 3k 7 B */

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if
dum_csj==0,fe vee(cluster id)/*3E K = A I 77 A£*/
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xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if dum_cj==1 ,fe
vee(cluster id)/* K VL 24 5 %7 */

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid==0 if
dum_cj==0,fe vce(cluster id)/* 3 K L £ 3 4 */
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xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if
dum_gy==1,fe vce(cluster id)/* [E & */

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if
dum_gy==0,fe vee(cluster id)/*3E [F & */

*5. 4% fu Rk 7 *

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if cznl==I,fe
vee(cluster id)/* 2 57 #8 77 7%/

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if cznl==0,fe
vee(cluster id)/* 2 57 &8 77 55/

6. B % 5 E*

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if dum_intensity



==1,fe vce(cluster id)/* ¥ A */

xtreg dvar posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid if
dum_intensity==0,fe vce(cluster id)/* %7 5/ */

xtreg finally B posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid ,fe
vee(cluster idd)

xtreg finally B posttreat scale hhi age Inpro iyear i.cic 02 i.countyid if
dum_bg==1 ,fe vce(cluster id)

xtreg finally B posttreat scale hhi age Inpro iyear i.cic 02 i.countyid if
dum_bg==0 ,fe vce(cluster id)

duplicates drop year countyid,force

xtset countyid year

xtreg inter v fin_co Inkl avg scale avg hhi_avg age avg Inpro_avg i.year ,fe

xtreg inter_q fin_co Inkl avg scale avg hhi_avg age avg Inpro_avg i.year ,fe

xtsetid year

xtreg dvar inter v inter q Inkl scale hhi age Inpro i.year i.cic 02 i.countyid ,fe
vee(cluster id)

duplicates drop year countyid,force

xtset countyid year

xtreg EG posttreat Inkl avg scale avg hhi_avg age avg Inpro_avg i.year ,fe

xtset id year

xtreg tfp_lp EG Inkl scale hhi age Inpro i.year i.cic_02 i.countyid ,fe vce(cluster id)
xtreg markup tfp Ip Inkl scale hhi age Inpro i.year i.cic_02 i.countyid ,fe vce(cluster
id)

xtreg dvar markup Inkl scale hhi age Inpro i.year i.cic_02 i.countyid ,fe vce(cluster id)
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xtreg pro_tra all posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid ,fe
vee(cluster id)

xtreg dvar pro_tra_all Inkl scale hhi age Inpro i.year i.cic_02 i.countyid ,fe vce(cluster
id)

xtreg pro_tra_add posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid ,fe
vee(cluster id)

xtreg dvar pro tra add Inkl scale hhi age Inpro i.year i.cic 02 i.countyid ,fe
vce(cluster id)

xtreg pro_tra drop posttreat Inkl scale hhi age Inpro i.year i.cic 02 i.countyid ,fe
vee(cluster id)

duplicates drop year countyid,force

xtset countyid year

xtreg co_entry postreat Inkl avg scale avg hhi_avg age avg Inpro_avg i.year ,fe

xtset id year

xtreg tfp_lp posttreat Inkl scale hhi age Inpro i.year i.cic_02 i.countyid ,fe vce(cluster
id)

duplicates drop year countyid,force

xtset countyid year



xtreg co_exit co_tfp lp Inkl avg scale avg hhi avg age avg Inpro_avg i.year ,fe
xtset id year
xtreg dvar co_exit Inkl scale hhi age Inpro i.year i.cic_02 i.countyid ,fe vce(cluster id)



